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(1} Creestion Ne 1 by Compulsory
(2] Answer any 3 questions from the remaining questions

QP Code : 5875

L]

Answer any 4 c . 20

a Explain H-I:IE_:IM HS-T_I:nInw meadels,

h. Duality of pictare depends on the : : o
Chenine: Bl or Cotidics mumber of pinels and grey level that represent the

What are the different tvpes of orde; £ 5 i

Diiscuss the classifications Eﬂﬂdmpdrm“ e o

Explaln apening and closing of & digital image.

L

i i\;;;;m expression for a two dimensional DCT. Also, find the DCT of the given
! 10

vel]
|

?'h.-Fr’h}'Fm-Eurt'aasfumaidﬂuﬁqumy in toa e E

: domain tools are so-umefil for image 10

enhancement? With the halp of neat Wock diagram exphain the paglc of fiftering in the
frequency domain, Give the reasons of shifting the arigin. o

B Mﬂmmm&uhﬁmrwﬁmmm@mhnﬁﬁm andﬂ:t 1o

¥ b
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- Bk | o

L
'
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R -

s Equalized Histoprams
In)
Imesity [0 1 [2 13 |4 .15 && 17
No. of |70 | 100 |46 |60 |10 |73 {10 |40
pixels L :
: L 2
1l';r. Discuss region based segmentation. 1V . 10
-
8 What are the required sampling rates for video signals? Explain video sampling in three 10
b.  Explain HIT or MISS transform osing an example. . : 0
e : A p
a  Explain the working of Weier filter in image restoration. 10
.  Discuss the concept nflj‘:;Eulﬂﬂw'[urmnﬁﬁaﬂﬁmﬁnn : o
Write short notes on any e
2 KL Transform. =.° . g 0
b. Ex]:a'l.tsﬁv-eh_f‘ mutching alporithms. ; : ; _
c.  Hough traz ' -
¢.  Point Precessing.
B
ey
N
it
e ¥
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1.Cuestion no.1 is compulsory,
2.Write any three questions ftom remaining five questions.
J.Assume suitable dato where ever necessary.

. QI - '
a] Compare 2G, 3G and 4G with respect to speed, applications and
bandwidth 05
b] If 36 Mhz total spectrum is allocated for a duplex wireless cellular -

=+« Bystem and simplex channel has 25Mhz RF bandwidth find Total
number of duplex channels, Number of channels per cell if N=4 ¢el]
reuse is used, y 05
¢] Explain concept and importance of power control in CDIMA 05
d] Explain fading effects due to Doppler spread = - 05

Q2.

o
a] If a signal to interference ratio of 15 dB is required for satisfactory
7" Forward channel performance of a cellul system, what is frequency
Reuse factor and cluster size that should be used for maximum
capacity if path loss exponent is | E&S and 2) n=4. Assume six first
tier co channel cells & mobile uﬂbuﬁ at the center of cell, i0

™ B Explain principle of Rake receiver in detail. 10

"-\.{_
Q3. 25

a] An urban area has a pepulation of two million residents. Three competing

I:m:::_?:lﬁd mobile uatwur%;__{*syst&nm A, B and C) provide cellular service in
" this'area. System A h33:394 cells with 19 channels each. System B has 98
cells with 57 channgls each; and system C has 49 cells each with 100
channels. Find the-iumber of users that can be supported at 2% blocking if
each user avepages fwo calls per hour at an average call duration of 3
minytes. ﬁsfs%uuing that all three trunked systems are operating at maximum
capacity, couripute the percentage market penetration of each cellular service
provider. Data: GOS = 0.02;

i

I_TI.IRh_I OVER
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cture in datail.
b] Explain W-CDMA Forward channel srietiss

- 04,
© a) Compare [8-95, WCDMA and CDMA2000  wig, 5
Channel bandwidth, chip rate, modulation schemes, gy, =
frame size. : %E
— . b) Draw LTE nework architecture and discuss it in detzi]
Qs

a) What is the concept of software defined radio? Elaborate iy Seta]

o 1. i.'.'

s

.

®) Explein Hand offin UMTS.

-

Q6. Write a short note on any twao of the fu]lm@g-

1. Multiantenna Tec:hmque-s 'vw A
2. Cellular capacity and coverage m1pra-2*mneut Techmque;,
—n 3. Indoagr proparation Models o
—F
e
e
g
Y
ot
-l I'l:__,::-.‘k & L
g
a:f'i
o
a

b

S

™
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3. (m) What is mecrobending loss. Expl

&, () What are aptica

m-’ ([ t'i:'{“:‘! |:f' = | (i .1{1,-' i AR heet g L

E,{l < )

o VA5 Ir?m X

O Cile | BRRA

Subs O€ SN

':‘“

e
(At iy \'\“l
R ETTIES ti.ih,.,.l I‘ﬂ | Vil Wb ¢ il
L] ,". I|"|.. |]:Ir
- - + 5 ] ‘_',l
MR (1) Questien Nes s compulsiy :‘J—-— -

B i ¥ : :
i::l ;,‘;I-L!'t:“".pl. any three questions owl of e temaiming e quaesiime
(31 Figuves 10 the vight indivate Wl warks

(3 Diifterentiate DAWDED, WA and SONIEL
(Y What is optical safeny?
fe) Differentiate LELY and LASER sowrces,
.;.;gj. Compare different Lypes o splicing techuiques,

2. () Drww the bleck diagram ol optieal commnicatiem nnd slale s pdvarsl g i

disadvantages.
(b1 Explain different types of (ibers with their e fLaetive indes prafile st sention s
dimensions. ‘
{c) A muiltimade GLEF exhibits total pulse proadening ol ms l{}','r.'.i* asdlstatwee o 15 km
Estimate (i) The maxinum possible B ancbwidth oa he iﬁu‘h LEEARITLN, |'-"'-|.
(i) The pulse dispersion perunit length o
(iii} :l'l:u Bandwidth lengih prodoet, . e
ainy with ekl dingrm, Reprlade o Lo lmiee

[

microbending losscs. o
() Explain OTDE with neats sketeh and mintion e mulvantages avd appicsious.
af PIM photodiode.

(o) Denve at Expression Lor responsivy

jamplificrs. Explain different types of Tront eod 4 mplifiers,

(b} Explainin detail working principle of AL Wiy it is called reaeh trrauph Al

and COMEPERE 1S workingwith PIM diode,
(e} Explain SONET erchifzeture in detail.
'\-\.-\"
. (a) rmmnxvumi:;gprinciplc of isolntor with |

circulator. .
(b} Write a short note &N link power budgel.

real sketeh, Alsoonmipare jzalator aod

. (1) ExplainOTDMin datail.
(k) E{ﬁ?t:-.m aptical access nEvOrss.

2 . o S

MD-Con. 9983-15.

Scanned by CamScanner

s Tl L

-

1

o

o

= -

i

&

in

14
11k



< ANy Exve (E-\ DTSP

.a@f i

M.E. 2 (1)

Question Ne.l iz compulsory

/2
e sem-NIU () wov.pec-1.0

| @ D]
QP Code : 2184

_g&_,& Vo DY

{3 Hours) Total Marks : 100

(3y  Answer any four gueslions out of remaining six guestions.
(3] TFigure to the righl indicates full marks.
(47 Tllustrate the answers with sketches wherever required.

() Explainthe freguancy warping in Bilinear wansformation.
(b) Tustify DFT ax 2 linar transiorm ation.
(

o wim

- & . 3 g _'..;, 1 I_
¢y Oae of the zeros of anl symmetic FIR filter is at 0.5 = 600°, show J?u2~lﬂnh 0

other zeros, Wihat is minimum order of this {ilter? k.

(dy Statc and prove the DET property for cireular [FEquenty sTift. el

= 5
P

=

' e - Iter,
2, I:E:I Tirzw 2 leitice fiktar melmfﬂtﬂllﬂ'ﬂ for the adl pole [1lzer, f

L _ 5
T 102z + D4z + 06z m

Hz]

and determine the oumber of multiplicetions, aiqih
implement the filter.
by Find W () using LT

P

"i"..

wan of FET-IRF fechnique cotpLis o = 2
wimi=1{1. % 1,4 andxk{n]__f‘g-li:-, i, Ii
ol 5 il phast an
(b} Compars [ inimum ]:lhaae,max-.%@lp .
J whether the following §¥5=I gf;.mu.trrmn

3. {a) Hym

[y pc L
k. . | g
H{:J-_'I—'g'ﬂ ]

LG

-

g = i E-"
T [ -
Hylzp=1 S
—r |
Fata g
A o fonwin g speci fIeaten
(a) Dresignlow pasy filter for following 5P
4, [&) 53T 156 : )
hat r -:'!u _ i‘:ll g II-IJ 5 Jn
4 s Lo -
s m}='
r"___l.: JEJT:.I {E : ';]E!_'; S
:::-_ : 4
) QTN wind

“HE

3 H, 5 I M= 8
_FFT algenthm for :[TJFFFL +1emd B

uquiflgr. circuler conyolution ol the &
Uz

3 L mum

14

F’ .
-\\‘ L] 1 -
sons and delays requirel 1o

Lo

equences 14

. N a3
mixed phase gystem. Als0 jdenafy 10
bagn, miked pRUES

1dl
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Al
ey ﬁ:[“irnl:‘ 1 QP Code : 2184
P sy, AP
11} et e g

- ' o ethods List the advantages
(b Explain multivate sampling? What are i II::::; !r';'::-cnl filter banks and also ﬂ#p;::
disndvantages and its npplications. xplain B

sub band coding. G .
;-,L—,ns:ralnl ngmg bilinﬁar

* " o 1 B ﬂ IU!'D'WinE .
S (0 Design a dipgital Butterworth filter that satisfies th 1

Transformation, Assume T = 15
095 H(e")s1, 0S@=%

H(eM)s02, Fsesr |
ase FIR filter occur at reciproca

I"Iil:nn;:ati,.;jﬂs A
' - A
(b} Shaw that the zeroes of n lincar ph w1y
show that
(i) FIR with symmetric impulse response and even EEHE_ :
a zero al 2= -1, nd\{!dd length will complsary

(i) FIR with anti symmetric impulse response o

have a zero atz=+ 1 and z="-1. q"-:'

thwill compulsory hay,

6. () The transfer function of discrete causal systegiis given as i

I ry’
. = ——— e ¥
) = o o o

(i) Find the difference equation -
(i) Draw cascade and parallel ;E’aifzatiun
(i} Calculate the impulse respionse of the system
(iv) Find the impulse ms?_nﬁsé of the system )
() Ifxin)=1{1,23 4} ﬁq;‘:liﬂFT X[k]. Using X[k] obtained & not otherwise, find
the DFT of the sequg_pgéé:a
() x(n)=(4, 1,273}
(i) xn)= {26374, 1)
(i) x(n)=d%,4, 1,2}
(iv} =( r}}jﬂu{ 4,6, 4, 6)
o

7. Write short !'r::;‘l‘ﬂs (any Four) :
(2) Application of DTSP for RADAR system
( hg.?D[g:itaJ_R&snnatur
_{c) Goertzel algorithm
(c) Overlap add & overlap save method for long data sequence

(e} Frequency domain characteristics of the different types of window functions

QP-Con.-10708 .15

Scanned by CamScanner



Etor Dee SDAE -
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—_— bo TEmoQL. (coas) Nov- PO

Vo Y2157
W b - M4 RE
o Sub:- MARE e oot

§3 Hourz) | Totnl Marks : an

SR (1 Question Mol is campulsery.
{17 Enlve any three questions from the remeining.
(11 Assome suitable datn if necessary,

i

. {21 Design cirecialor using magle tees.

(b1 Explain Travelling wave tube as an amplifier. s
(¢} Explain the uperation of 2-hole Directional couple with §-miliix. =
. a

id) Explain Doppler shift znd it= role in pulsed and CW radir.

e

{a) Thetermineling impedance £ s L 00+ 1000 and the chasacterisncs impedance 11

Z. of the line and stub ie 5002 The first slub is placed at 040 A sy from: the
laad. The spacing berwesn the twa siubs s 3308, Determine the length ol the
chart circuited stubs when the match s achieved, :

(b} Txplain instrumsat landing system for ateeraft navigalion, _“ :

-2

3. (a) Derive the wave equation for a TE wave and uhmiﬁ_':_ﬁ!ﬁ the field compenents 140
in & circular wavegnide. ‘-':'5
{b) Wheatis the importanes af baam coupling -:nr;ﬂﬁicnt 9 Dgrive the equation el 1
velocity madulation in klyston. .:;F'
Y

2, [a} Cxpleinthe significane of RWIH |11|:|d_|:;':.|=.l'n|] o vallzy modzl in Gunn diode. 10
(ki With a suitable diagram, gxplain T_hE“:F.'DL'king on conjzal scan trucking radar, 10
Explain the varicus factors that-ieed to te considered iu Jelermining the

pptimen squint angle, ' '

5. (ap Diezw and sxplain with ]_J]JE':’. dimgram of MTT radar sysiem. What are itz 14
limitarons. a :
{&1  Discuss the pnwcrmr_‘_}-:'-':!u-:nc;:.r: aurrear [requency and power gain frequency 10
|imitations with refrence Lo 8 microwavs transislor.
£
6. [a] Design o 'ﬁ'ﬁﬁp-&d clement L section matching nzbwork al 200 Wbz o 1
cpanaform 2 = 200 - j100L 1o n i 0 tepnstnizsion ling, UseSmith Chart,
(k] Wrie atho Fl note one hackowerd wave qacilator. 3
) A r;ﬂlz'ﬁ"-:q:ﬁrﬂ[ing at 1.5 Gz uses @ peak nulse powst af 2.5 MW and haves 3

L
[

renpe of 200 o for phjects wlose radar Cross apction 15 T I the mirimem
ruceivable puwer of the receiver is 211077 Wert, What iz the seaallest dizmeler
"ol the anlenna rsflector eauld have, asseming 00 be o full mureboloid with
1lL6S. :

MD-Con. 11083-15. s
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% - :lr,:'f,..-'lr!:l
"’;LLL“_f Dc XKE ESom i A

i?ﬂf_ QOF Code : 2254

(3 Hours) i \| Tatal Iarks ¢ 10

MN.B.: (17 Question no § is compulsery
(2} Answer any four out of remaining
(33 Assume suitable data i€ necessary and justify the szme. f :

1. Answer inbrief: .
fa) (Giveclassifications Data Compression techniques (Give an examplc i’;f_%ﬂ":‘:“
T}']:I':-. . . ) !
() Explaindiffercnt redundancies in texl, digital images and di gitalj.'_]d{:ns.. How
ars they important fr data compression? =
(c} Dilfeventiate bolween private key erypld gyEiCms anc public key cryptosysiems. =
* (3ive anexample ofeach, ;

2y

i

{(d) Solvethe following congrencs using Chiness Rcmuizaﬂté'fhucr:m {end not 5
by trial-and-eror) o

¥ o=imaodl e

He=dmed3 a:’f_:ﬁ

We=5moed? q"{}'

]
' >
1

2 (ﬁ] Farthe fni]ﬂwing glphahet and pre haai]ilifg.lirﬁ*ﬁd as rzal ‘-"I_1|11L‘:Ii tag for arithmetic

coding, Tor the sequence 2,85, ERE

pi; ~m‘r:;Eu.Ln 1.7-77 dicticoacy compIEsgion technique. AlS0 i

El;]l:l al - ]E‘.‘E| ] ] i i : '|.'|t djnL " .
]]ﬂ:l w 3 | [ | E A o BRG], |E|1 5 SL-I:lI“ L E
[ |:_ :

- ; Liies Perfn Mizimm
o it followin | gtlers and probanilities. Fer :
{a} An a|phabet ig BOvED WL B oy, Alsi Gnd th comaression

VATATCE %’fﬁﬂan coding, Find the coding redundan
ralio fn;{rIlE sequence 32,88

ik
'

3,8,

[ TURN OVER I
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. _,.-‘r;f QP Code . 2254

AT

v . 2
(b) With a neat block diagram, explain the JPEG lossy compression technigue,

1% . : !u
4. (n) Explain DPCM and ADPCM techniques with neat b Iun:Ec d:ag:arlns_l
(b) Whatare I-, P - and B - frames in digital videos? Explain the principle of vige, 1
1.

eompression used in MPEG standard

3. (a) The prime numbers used in RSA ailgﬂrjm.m arc P=19 and g=23. If the publjc), i
3 find ¢ (n) and d; the decryption key where ¢ (n) has usual meaning. Wiite engy . 10
£

‘and decryption eguations. : i _
(b) Explain "Man-in-the-middle" attack happening in Define- Hellman key exchang, I
system. How can it be avoided? e
i ke
6 (a) Giveoverall black diagram of the DES stendard, Explain ene round:in detail, 11
(b) Whatare MAC and Hash functions? Give onc example of each.¢ Jso explain why o, 1
the requirements on MAC and Hash functions. 5
| o
7. Write short notes on any two : Ay 2

{a) MP-IIl encoder and decoder &

(b) JPEG-2000 standard E
(c) Viruses and worms o7
v
@}h
------ X %-‘ L —_—
A9
3
¥
-—‘II::::I I
_ &
ﬁ,l_.__,.
oy
i
A
!
D[:"
A
N
I'-":I
o
%l
W
.-"_H"'
&
) QP-Con, 11333.15
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(3 Hours)
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ExTc CBGS. ov DOCTIS

" 2| 15
QP Code : 5743

[Total Marks : B0

(2} Solve any 3 from remaini

Og 5 questions.

(3) Figures to the right indicate full marks.

(4) Assume suitable data if
answer sheet,

1. Solve any five :

(i)  Differentiate between synchronous counters and ripple counters.

(i) Differentiate between inv

necessary and mention the same in the

0

erting and non-inverting amplifier.

(iii) Design first order non-inverting low pass filter to provide cutoff

frequency of 10KHz.

(iv) Explain 7490 decade counter. g
(v) Design voltage regulator to provide output volfdge equal to 5V and

load current 1 Amp using [C 7805,

n,

(vi) With the help of neat circuit diagram e::p;igr{ﬁ any one application of

PLL563.

“\;:I

in

i e
2. () What is a precision rectifier ? Draw thediagram for a full wave precision 10

rectifier. With the help of wavefo
its working.

rms at different points in the circuit explain

gt

(b) With the help of a neat circuit :?wé'am explain working of RC phase shift g

Oscillator. i

3. (a) Draw functional block diagram

of ICT23 and explain its working as low 10

voltage regulator andchigh voltage regulator. N
(b) With the help of nelit circuit diagrams explain how analog multiplier AD 10

534 can be utiliséd for :
(i) andlog division and

(ii) .. 'Square root extraction.
.-';.l' 3

4, (a) Draw%’élﬁp]ain the functional diagram of IC555 and explain its operation 10

in astable mode,
(b) Explain working of

(i) logarithmic amplifier and -

(ii) Anti logarithmic am

MD-Con.-11117 ~15

plifier with the help of circuit diagram.

TURN OVER
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Toen

.- QP Code : 5743

s A Y
i 0

I’ B it

the working of Universal shifi 19
5. (a) With the help of a neat circuit diagram “’gﬂnﬂr with a single circulating ',

register IC74194 as a 4bit, 4-state Ring ¢ lain the working of 74143 I
(b) With the help of a neat circuit diagram xP n cading connections fo,

synchronous 4 bit binary coutner, Also illustrate the cas

74163 based coutners.

6. Write short notes on any four : _ 3
(i) 74181 Arithmetic Logic Unit 4
(ii) Instrumentation Amplifier o
(iii) Switching Regulator R
(iv) Voltage to frequency converter &

(v)  Triangular wave generator. ;‘:L;
-\-:.'-
Oy
o
A
M =
‘\‘il_.
e
>
' :«.ﬂl"
e
&
'?-\_
] Q—I:::I
.
dh—"‘
2
f;iﬂ:
Cy
A
Nl
A
i

' MD-Con.11117 .45
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Sem YU (Rev) - Meg {exre) il lis

3 - ~mec~1¢
<C Sub - MCs ap. Code: 2327

{3 Hours) [Total Marks : 100 _

ot
[, Queston na. 1is compulgoay:
2. Solve moy four out of ramaining Siv quesions.
3. assume switnble data i peguared.

Q.] |
{2) How can swsen eapazity e be ivereased p cellolar sysizm. 1 ." i
Uﬂ-‘.l E‘-‘.]J]hiil. GS:‘r{ 5 1-i:_:|;-_$ nud Featiames. [:- .-
{2} Explain power costral sup chaneel in 1525 CRMA svser. i =
i) Effees of Doppler spread oo faes fadice ond slaw Tading, i3 ;
L " ?’_,
(s Phisenss o WS sharmels ' (10
{h) E¥isenas hand-off procedure in COPTY with nes dinprai. "élﬁ}
Q k| q..-‘_}w
(n} Explain with veat diagram 15-95 forward feaffic channel. ﬁ{j l,:rm]
(b} Exploin the Kaife-edge diffyaction medel 7:3'“ (10}
Q.4 ' rngl,f o
| i ol in 36 syste & {10)
(a} Explain handofl and power contel 1 o sySIEL. s .
(b Give the 90 COM A gvohrhonary paiL. s 'j:
L
() Compare W-CTIMA & CoMA2000. P}ﬂ:. )
S fS
-
¥ .
& { Fopsider o Lanswitzr vwhizl radistes

{a) Explain fctars affectitg e small soale fadﬁ;ig
sigual of curmer fraquency’ 1500 MH=. For ﬁ'_m{eh.m

A
: jved cermer frequensy . 42 . .
f‘:'ﬂ‘;l] [f vchicle moving 15 movE dj.%cﬂ;.' towards the trnsoiTIeE

be mpving wath Bl km b, calenlawe the
(L0

HIfv Teicle mioving i d:i:-%‘tlﬁ‘;.‘. aphipols 1 70 degres 10 the diectzon ol aryval af fae
l:.- il o ;
irenemained sgak (9 _ .
{b} Explai EAKE reosive ) ngt._m!. 9
jo) Fxplait whreila v;d%éﬁﬂ;rcm:h_
5 |
7 i Ly ;
1.6 i . 4 s | L I
] (A Derive re]aﬁxn{ﬁ{i:»:tt're:a syt CEpECLY g phuster 3128 by
b} Explain EERS grchitectans st 1peal diagre
| j-f"' "

3 b 8 phi]]
£3.7 Short pbies (A T |
" (yGanpare FRMA ToNA, CDBA, SERLA.

-J'_":_"-:.l'l'imth-L'i.-:utuu jn GEhd
) Signb prosessing GEME.
-

-

) i
L]
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(P Code ¢ 6193

{3 Hours) [ Total Yarks S0

(1} Question No.l 1z compulsory

oG
¢2) Solve any three questions from

remaining five gueslicns-
(1) Assume su itable data wherever necessary wilh pmperjusﬁﬁ-:mi g1
r,} with prahahilitics 7 (a)=1 2

cufculete the entropy of the source.

(1) A S0uUrge cmits latters A { 4, B, ULy,
_} p{a!]=ﬂ.15p{a]j|-'t'l.25p{a4]| = Q.10
Alsa find the huffman code with minimuom VaTIancE-

fel 11efine the chinese remnamder theorem find the wluuuntmhcsimlﬂlﬂ
v =2 mod 3
x =3 mod 3
x =2 maod 7

(d] efine fermat’s lett]e

{i) 3" mod Li

(i) 3" mod 11

pewus eqEalions.

theorem find the resull of

de and decode 1he following Sequenes ﬁéiﬂg Lz-77and Lz- 78 algorithm. 20

7. {a) Lnto
wahb abrar'l:larrar:'l:l ae
riive drawbncks of Lz-77 and Lz-"¥8 pgsume window Size g for Lz - 77-
(by Whatis MDC and MAC 7 Eﬁpj_“éin HMAC in detail.
& |
) 3, (&) Write a shord note o0 p-law ek A-law companding 20
{hy Explain diffie hellman key exchangs algoeithm with am example. Als0 explaim
un Joey exchange

achk on Aiffie hallm

att
4. (a) Ex plain atiack of double DES wilh example write with neal blacl: diggram el
triple DES with 1WO keys.
(h] Write shott RO o AES _
5. (a) Wrile chort poje on o_7h4 encoder and decader pd|
(b) Exaiain Ttrusion detectinn SYSIEM in detail
g Wpite short nobe  Any three) 20
_ (2 Fthica! hacking
el (] Ateacks o0 REA
_ ﬁ (¢) JPEG- 2000
e fd} Ripmetric Anthenticalion.
"
- .l\-: 1 _______
q{ )
B . MD-Con. 11 740-15.
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M.B. (1)} Cuestion oo, 1 is compulsory,
(2)  Answer any four out af remaining six.
(3) IMNustrate answers with sketehps.

(4) Use smith chart whersver MEeCERSArY,

|. {a)  State and cxplain Lorentz Reciprocity Theorem, 5
(b f;f::;..'qau] IFlI'L'-FDWE".-'E propagalion in ferrites. A
(c}  Diflerentiate between transferred electron devices sod avalanche feansit time 5

devices.
() Explain Amplification process in TWT. 2

7. (n) Using the multiple reflection viewpoint explain the principle ol working ofn 10

(UOrEr Wave transformer
(6]  Describe the mechanism of velocity modulation in a lwo cavily klystron, 1
3 [."l:l [Describe construction and 1.=.'|_1[i-;'|nE|_ af two hole dicgetionii Cl:IIJ]'.I]ﬂ.I' along with 10
s $-matrix.
sl 10

(b Maich 2 load impedance 7 = 60 - jB0 o o sof line uzing o douhle -

1 . L] 5 = = iy
tuner, the stubs are open circuiled are spam.-dl_ﬂ apart. The match frequent

is 2 GHz.

4. (a) An air filled reclangular wavepuide of _iuéid: dimensions 7 x 3.5cm operalés pp
: o,
in TE,, mode.

(i  Find the cutolT frequericy I

vy Determine the guidmd wavelenglh &t 2.4 5 . .

{E:H Determine the phase velocily of the wave In the guide at the same

I .

frequency

! i hi £ i
Whal are the steps to saive @ single - stub mutching problen 1

(k)

; - the working of & Cunn Diede. 10

i \+ digorams explain the working of Diod o

& ‘I;.Itl-l “T];t I;‘:J[::i:rﬁ'"hﬁgnr::ti; equations for Th mades in rectangular wavepuide. 10
(b)  Derive the cleciin

i . . |

corking of a negaiive resistance

tking of Magic Tee. Liesign

' parametric amplifier. 1h
S, Fro s cipculatar using Magic Tees. 1

(b)  Explain the wo

-

L 1Y

7. Write shaort nﬁtczz an 1he follow
(a) Faraday Rotation
(k)  i'pwer dii'id;rs
(ed Hyhrid junciions -
: J{_ﬂ} O-type and M - TpE devices
=

L]

L [ T

—

iy
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||] EGI'I-'E EI'I'|.' FI:I!.IT ':"Jt ':r rEmalrlirIE questlﬂ_ni

Attempt :tli',f TW questions, >l
A What Is ceta transparency? Exglain bit stuffing and de-stuffing. {,.:"-ﬂ [EI
g Whal are various netwerking companents? Giva fonctioning. o I;'
C what is the use of application layver® Explain i [;I
o What are categary cables? What are its type and applicaticns? B (5
&'
1 i : : S 10
& what is flow control? Explain GO-Back-N protacsl. . _'.:-:l E_m%
g What are HOLC freme format? Explain o
Pk
i x . > mi S
4 ‘What are various station types, configurations and “modes of commupication [10]
syapported by HDLT protacal? Explain in brlef. 6 -
a o
: ":‘x ' [10'
4 Briefvaricus flelds in the TCP header formal. e b
B Explaln varous seheduling mechanism:re J]-itllzlrl.- taken passing End ollfrg
i : o ful [0
A What is [P address? What is €Iz snfull ann:l classless addressing? Explain Classfu |
S [ {parithm with exampla. [1e]
+a and Ballman-Ford algarithm i
tha difference betwasn [:il_i'Rsl: aan
s fl{ e s MY Explain the achanTages. [10]
vhat Is VLANT What is '[hE -t.'Lr:au of memiershiz in 2 VLANY Bepll d
- . [ain the causes and ramecly {10]
{7 Explain the causes ana r=s
transmission pmrrﬂen
5 Whatis : L}_ “

wirite a notos an Eﬂ';. Ftwo,
a IEEERD? prﬂjl::.%__
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